LIVING

WWW .HESTIALIVING.CO.UK

Easy set up instructions
for your new Ottoman bed

THIS INSTRUCTION PACK IS UNIVERSAL ACROSS THE RANGE
IMAGE USED MAYBE DIFFERENT FROM THE ONE IN PACK.

SYOLDONYLSNI
ATINISSV

Information, diagrams and steps illustrated in this Assembly Guide S BRITAIM

are correct at the time of publication.




Introduction
and components

1. Unpack in the room the bed is intended to be used,
remove all packaging and dispose of carefully,
keeping polythene out of the reach of children.

CONTENTS: * 1 x Support Bar

¢ 4 x M8 Bolts
¢ 1 x Headboard e 4 x M8 Nuts
* 2 x Side Rails * 3 x Fixing Bolts * 4 x Allen Key Bolts
¢ 1 x Foot board * 3 x Fixing Nuts
¢ 2 x Baseboards ® 6 x Washers
¢ 2 x Slatted Frames e 2 x Brace Bars
(pre slatted) e 4 x Flange Nuts

SAFETY FEATURES:

The slatted frame MUST have the mattress in place to close.
Without the weight of the mattress will result in damage to the bed.

The recommended mattress weights are as follows:

a) Double Bed 25kg - 40kg
b) King Size Bed 35kg - 80kg
c) Super King Bed 40kg - 100kg

DANGER - RISK OF INJURY / CRUSHING

The ottoman must only be operated by responsible and capable adults.
Never allow children to operate the ottoman.

TOOLS REQUIRED

The following tools are required for this assembly
1 x Socket Set - 13mm Spanner
1 x Cross Head Screwdriver (also known as a Phillips)

CAUTION WITH ASSEMBLY

Some stages of this Bed Assembly will require two
people to hold and lift components that maybe heavy.




CONTENTS

CHECK LIST - BED ASSEMBLY

Please check the pack contents before attempting
to assemble this product.
If any components are missing, please contact the retailer
from whom you bought this product.

@® - OTTOMAN

.

ASSEMBLY GUIDE FIXING - POZIPAN FIXING-NUT
=x1 M8X50mm= x4 M8 = x4

®
%
S
2
A18N3SSY

CHECK LIST - FRAME ASSEMBLY

(2 )

CONNECTING-BAR FIXING-WASHER FIXING-NUT FIXING-BOLT
=x2 M6X20mm = x6 M6 = x3 M6X70mm = x3
AP\ )
g((%_
(o)
FIXING-NUT FLANG FIXING-BOI-
Mé6-HEX = x4 M6X40mm = x4

This product is HEAVY, it should be assembled as near as possible to the point of use.
TAKE CARE WHEN LIFTING to avoid personal injury and (or) damage to the product.

This product takes approximately 40 MINUTES to assemble with 2 PEOPLE.

The fittings pack contains SMALL ITEMS which should be KEPT AWAY FROM YOUNG CHILDREN. 3

Read this leaflet in full before commencing assembly.



FOR BISCUIT PLATFORM OPTION SKIP TO STEP 7

*We recommend flipping the slatted frames for easier access to bolt holes.

‘.:h FOR SLATTED SLATTED FRAME OPTION, FOLLOW STEPS BELOW

2. Your slatted frame will arrive in

two sections and are required to be

connected together by following

the next steps. 3. On each of the points - use one
fixing bolt two washers and one fixing
nut to secure the frame together.

-0 (5O @

4. Place the two brace bars onto the slatted frame
at each end. These are fixed by the allen key bolts
supplied in the bag.

* Line up the bolts into
the brace & frame on both
sides before tightening
using the supplied flange
nuts.

TOP VIEW OF SLATTED FRAME



The hinge brackets will already be fixed into place.

Please Note: You are required to follow the steps as detailed
to make sure that the bed is correctly set up.

[ Left Hand Bracket j

5.

1. Remove the M8 Nut on position A
2 . Move the gas strut into the position A
3. Place the M8 Nut and tighten with 13mm Spanner

[Right Hand Bracketj

6.

1. Remove the M8 Nut on position B
2 . Move the gas strut into the position B
3. Place the M8 Nut and tighten with 13mm Spanner



** |F YOUR BED IS SUPPLIED WITH HIGH FOOTBOARD, YOU
NEED TO SCREW THE SUPPLIED LEGS TO THE BOTTOM OF THE

HEADBOARD & FOOTBOARD .
Please Note: this step

will require two people
and requires lifting.

7. Connect the side rails to the head board
sliding the bolts into the brackets and tightening
with spanner or appropriate socket set.

Then proceed to connect the footboard to both ** Internal legs come with low footboard beds only
of the siderails by sliding the bolts into brackets
and tightening with the correct size spanner.

C HEADBOARD )

TIGHTEN

PULL
TOGETHER ONTO BRACKET WITH SPANNER

LATCH

**Do not tighten bolts to one side until step 7

8. Lower the support bar into the
middle section of the bed.

( SUPPORT BAR )

PULL LATCH

TIGHTEN
TOGETHER ONTO BRACKET WITH SPANNER




Please Note: this step
will require two people
and requires lifting.

9. Lower the first base board into place with the
angled cut corners against the head board
(as shown above).

10. Lower the second base board into place with
the angled cut corners against the head board
(as shown below).




H Please Note: this step
will require two people
and requires lifting.
11. with help, lower the slatted base onto the
two rails (attached to the hinge). Make sure

that the welded retaining brackets are at the
headboard end.

Please make sure you thread this hole
first on each side, as this will help line up

the frame and prevent damage.

Please Note: The hinge bracket has
been pre-threaded.

12. Using the 4 x M8 Bolts, attach the
slatted frame to each of the hinge brackets;
2 x M8 Bolts to each hinge.

Please make sure you thread this
hole on each side. DO NOT USE
the end two holes.

YOUR BED WILL ONLY
LOWER ONCE THE
MATTRESS IS IN PLACE



20

YEARS OF

EXPERIENCE & EXPERTISE
=
x
ESTABLISHED 1968

G)

S

LIVING

HANDMADE UPHOLSTERED
LUXURY SINCE 1968

(p

YEARS |

\ GUARANTEE

We're so confident in the quality of our workmanship that every upholstered
bed comes with our 7 Year Frame and Frame Construction Guarantee.
This covers the timber frame and frame construction on models. In addition,
all motion mechanisms, electric motors and power packs come
with a 5-year warranty.

Our skilled craftsmen have created furniture of outstanding quality
for over 50 years and we hope you enjoy its comfort and style
for many years to come.

WWW.HESTIALIVING.CO.UK



